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following '“il-l'.:ld on free
released in the cytosol EXCEPT;

A. nuclear proteins

C. peroxisomal proteins

B. mitochondrial proteins
D. lysosomal proteins

E. cytosketal proteins

F. chloroplast proteins

The role of the oligosaccharides on the cell membrane is?

A. transport

B. cell recognition

C. catalysis

D. adhesion

E. receptor molecules

F. none of the above

tRNA is

in transiation, The sequence of anticodon of the last charged

A. UAG

B.UAC

'-i.i" C.AUC

D. AUG

E. ATC

F.TAC
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Arrange the following in correct sequence: !
1. Vesicles are pinched off from Golgi apparatus carrying |
newly formed proteins to plasma membrane. !
2. Polypeptide chains move through rough ER and then!
carried in vesicles to Golyl apparatus.
3. Golgl Apparatus separates and modifles varieties of |
proteins and then packages them into vesicles, |
4. Initiated by RNA, polypeptide chains are made by |
ribosomes on rough ER.
A.2.4,3,1 B.2,4,1,3

C.4,2,1,3 D.4,2,3,1
The sequence of nucleotides in a messenger RNA molecule is

needed to determine the sequencae of

A. nucleotides in a gene
C. nucleotides in ke anticodons of 1-RNA | D, codons in DNA

! A. o mitochondrion
| C.  centriole

—| B. the rough ER

— D alysosome

| B. amino acids ir a mﬁi},—,_____
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Which of the following Is a non membranous organelle?
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DNA replication results in: .~

A. 2 completely new DNA molecules

B. 2 DNA molecules that each contain

17

a strand of the original molecule
C.lnmﬂﬂhmulmln.lﬂdunl«:nhﬁ D. a single strand of DNA is copied to
conserved make two single strands of DNA

phases of the cell cycle?

Which of the following represents the

correct order of the

AG-G;-S-M B.G,-5-G;-M
C.G,-G;-M-§ DG S-M.G,
EG-M-G;-§ F.5-G-G;-M
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A. lipoproteins

B. proteins
C. cholesterol D. glycolipids !
19 nmm&mmﬂmmﬂnummh H
A. primary structure " ~*{ B. secondary structure
C. quaternary structure D. tertiary structure

Mmmmmhmmmmmhmm
open it up, creating a replication fork?

A. DNA polymerase IT1 B. DNA helicase
C. DNA ligase D. single strand binding proteins
E. DNA polvmerase | F. primase !

2. Define the following (5 marks):

1. Nucleosome:

2. Primenr:

3. Acrocentric chromosome:

4. Hemidesmosome:

5. Osmosis:
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| [C.rRNA M.und
'8 | Whatls the 3 = CGUGCAAA
. Mg p.s'mmcmmﬁq;
__ [C¥CGTGCAMTCEE = —— g i many different
'9 :m-nﬁ-ﬂl“"'&"’"“ Proten
" f'hin_-_!_.-l mino | B. non covalent interactioy
| -'n_whdil:ﬂ!"“‘" amino acid side chains ang g,
] ﬂ*“ - P Lj'_,.J'-" m
t | nlymm
=l s
| [E hydrogen bonding between atoms of | F. none of the above
|| the polypeptide backbone
10 What enzyme catalyzes the formation of peptide bonds
| | transiation?
| A uansferaseA - B. aminoacyl tRNA synth:
| 1 C ribesomal ATPase D. peptidyl transferase
._“jl'-lr—:h s F. none of the above
1 A nucleohns - ;i =
| s - rbosome production | B. lysosome - extracellular o
: TLW_“L“J' hesi "-" pparatus - ATP prod
| begin to move toward the weix. logous chre
| [Aprephaer ot poles?
| [Simapheen B. telophase |
prophase 11 D. anaphase |
13| Facllitated transport ang aoges - Slophase 11
-r"“_ o h"m'llr-llmlhrhﬁll
B. meo
k C.I-n-h““ Ve substances down the
E requis D Enadie - ET:;‘;: dicat
: 14 MﬂT 5 i A
'MMMT = tor
| MovEment of o, Microtubules?
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Q.3. True or False? ( 8 marks)

(7%
: Prophase | | characterized by one-sided attag
™ l of llln-ltn:.'-ll:l'ﬂhﬂ‘l prophase Il Is characterizad h’h::
sided attachment of kinetochores

2( ) Glycogen and ceilulase are polymers of a-glucose, giyce,,
is branched while cellulose Is non branched.

3.( ) In sukaryotes, RNA polymerase Il synthesizes mnmm
RNA polymerase !Ilnynth-llntlﬂl-

4a.( } Spsrmatogeonia , primary cocytes, and somatic cells g,

diploid (2n).

5. ]M:M-w.nﬂudu:ﬂﬂnﬂmmhrq
chromosomes occur during prophase [

6.( ). Insulin is made wp of two polypeptide chains that an
Mw.

7. ) The P site Is the site on the large subunit of ribosoms
where the tRNA adds its amino acid to the growing
polypeptide chain.

8. ) In counter transport, Na* enters the cell against i

B o concentration gradient while Ca** leaves the cell down

Y its concentration gradient.

9.( ) interieukin is a protein that stimulates the production of
1rll|hlﬂllﬂllll.

10.( ) The aim of mitosis In unicellular and multicellular
organisms is reproduction.

11 ) Coliagen is structural protein but myoglobin is transport
protein. e

12.( ) Oxidation of proteins needs water and releases energy:
and this reaction is called hydrolysis

13.( ) Alanine is polar amino acid while serine Is non polar amin®

14.( ) When a muscle I stimulated by nerve impulse, T

Phasphorylation
5.( ) of sodium-potassium pump carrier caus®

16.( sion but becom
divi Speciaiized in their function.
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Q.4. Complete the following (12 marks):

-|.h During mitosis, a parent cell having four
chromosomes will produce two daughter cells, each

containing chromosomes

2. The requirements which are needed to pass the cell G,
checkpoint o

3. Melosis Is reduction division because

4. Water forms an abundance of hydrogen bonds, which are

responsible for many of its physical properties such as:

. ; and

5. If a protein's environment is -Itd‘gfll, the protein may change
its shape or unfoid, and this process is called

6. Maitose consists of ———"" and

7. Phospholipid molecule consists of

and —

8. The Intermediate filaments that line the Inner nuclear

membrane Is called — .
9. Desmosomes are junctions but
plasmodesmata are — junctions.

10. Decreasing the cholesterol level in human blood I8 carried

out by a process called e —



41. Comment: Winter wheat tolerates extreme cqy
ted phosph
increasing the percentage of unsaturated phospholipj,, g

—
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‘ 12. What happens when plant cell Is placed In hypotoy,

solution?

Q.5. With drawing illustrate the following (5 Marks)

‘ Lysine p-glucose Nucleotide of DNA

Cholesterol




